

GENERALIZED $\mathcal{L}$ -CONTRACTIVE MAPPING THEOREMS IN PARTIALLY ORDERED SETS WITH b-METRIC SPACES

SEONG-HOON CHO

ABSTRACT. In this paper, the notion of generalized $\mathcal{L}$ -contractions is introduced in partially ordered sets with b-metric spaces and a new fixed point theorem for such contractions is established. An example and an application to differential equation are given to support the validity of the main theorem.

1. INTRODUCTION AND PRELIMINARIES

Banach's contraction principle, which plays a very important role in nonlinear analysis, has been generalized and expanded by many researchers.

In particular, Chatterjea [3] gave a generalization of Banach contraction principle as follows.

Theorem 1.1. [3] *Let (X, d) be a complete metric space, and $T : X \rightarrow X$ be a C-contraction, i.e.*

$$\exists \alpha \in (0, \frac{1}{2}) : \forall x, y \in X, d(Tx, Ty) \leq \alpha[d(x, Ty) + d(y, Tx)].$$

Then T has a unique fixed point.

Choudhury [5] introduced a generalization of the notion of C-contraction and he obtained the following result which is a generalization of Theorem 1.1.

2020 *Mathematics Subject Classification.* 47H10, 54H25.

Key words and phrases. fixed point, generalized $\mathcal{L}$ -contraction, metric space, b-metric space, partially ordered set.

Theorem 1.2. [5] Let (X, d) be a complete metric space, and $T : X \rightarrow X$ be a weakly C -contraction, i.e.

$$\forall x, y \in X, d(Tx, Ty) \leq \frac{1}{2}[d(x, Ty) + d(y, Tx)] - \varphi(d(x, Ty), d(y, Tx))$$

where $\varphi : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is continuous with $\varphi(x, y) = 0 \Leftrightarrow x = y = 0$. Then T has a unique fixed point.

Harjani *et al.* [8] extended the result of [5] to partially ordered sets with metric spaces.

Theorem 1.3. [8] Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a metric d on X such that (X, d) is a complete metric space.

Let $T : X \rightarrow X$ be a non-decreasing mapping, i.e. $Tx \preceq Ty$ whenever $x \preceq y$, such that

$$\forall x, y \in X : y \preceq x, d(Tx, Ty) \leq \frac{1}{2}[d(x, Ty) + d(y, Tx)] - \varphi(d(x, Ty), d(y, Tx))$$

where $\varphi : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is continuous with $\varphi(x, y) = 0 \Leftrightarrow x = y = 0$. Assume that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$.

If either T is continuous or $x_n \preceq x$ for any non-decreasing sequence $\{x_n\} \subset X$ with

$$\lim_{n \rightarrow \infty} d(x, x_n) = 0,$$

then T has a fixed point. Further if for $x, y \in X$, there exists $z \in X$ such that either $z \preceq x$ or $z \preceq y$, then T has a unique fixed point.

Let $\theta : (0, \infty) \rightarrow (1, \infty)$ be a function. Consider the following conditions:

($\theta 1$) θ is non-decreasing;

($\theta 2$) $\forall \{t_n\} \subset (0, \infty)$,

$$\lim_{n \rightarrow \infty} \theta(t_n) = 1 \Leftrightarrow \lim_{n \rightarrow \infty} t_n = 0;$$

($\theta 3$) $\exists r \in (0, 1) \wedge l \in (0, \infty)$:

$$\lim_{t \rightarrow 0^+} \frac{\theta(t) - 1}{t^r} = l;$$

($\theta 4$) θ is continuous on $(0, \infty)$.

Denote Θ_{123} by the family of all functions $\theta : (0, \infty) \rightarrow (1, \infty)$ satisfying conditions ($\theta 1$), ($\theta 2$) and ($\theta 3$), and Θ_{124} by the class of all functions $\theta : (0, \infty) \rightarrow (1, \infty)$ such that ($\theta 1$), ($\theta 2$) and ($\theta 4$) holds.

Recently, Jleli and Samet [10] introduced the notion of θ -contractions and gave a generalization of the Banach contraction principle in generalized metric spaces, where $\theta \in \Theta_{123}$. Also, Ahmad *et al.* [1] extended the result of Jleli and Samet [10] to metric spaces by using $\theta \in \Theta_{124}$.

Very recently, Cho [4] introduced the notion of $\mathcal{L}$ -contractions by introducing the concept of $\mathcal{L}$ -simulation function and obtained fixed point result for such contractions in the setting of generalized metric spaces, which is a generalization of result [10].

In the paper, we introduce the concept of a new type of contraction maps which is generalization of C-contractions and weak C-contractions, and we establish a new fixed point theorem for such contraction maps in the setting of partially ordered sets with b-metric spaces.

Recall the concept of $\mathcal{L}$ -simulation functions.

A function $\xi : [1, \infty) \times [1, \infty) \rightarrow \mathbb{R}$ is called $\mathcal{L}$ -simulation [4] if and only if it satisfies the following conditions:

- ($\xi 1$) $\xi(1, 1) = 1$;
- ($\xi 2$) $\xi(t, s) < \frac{s}{t} \quad \forall s, t > 1$;
- ($\xi 3$) for any sequence $\{t_n\}, \{s_n\} \subset (1, \infty)$ with $t_n \leq s_n \quad \forall n = 1, 2, 3, \dots$

$$\lim_{n \rightarrow \infty} t_n = \lim_{n \rightarrow \infty} s_n > 1 \Rightarrow \lim_{n \rightarrow \infty} \sup \xi(t_n, s_n) < 1.$$

Denote $\mathcal{L}$ by the family of all $\mathcal{L}$ -simulation functions.

Note that $\xi(t, t) < 1 \quad \forall t > 1$.

Example 1. [4] Let $\xi_b, \xi_w, \xi, \xi_{wc} : [1, \infty) \times [1, \infty) \rightarrow \mathbb{R}$ be functions defined as follows, respectively:

- (1) $\xi_b(t, s) = \frac{s^k}{t} \quad \forall t, s \geq 1$ where $k \in (0, 1)$;
- (2) $\xi_w(t, s) = \frac{s}{t\phi(s)} \quad \forall t, s \geq 1$, where $\phi : [1, \infty) \rightarrow [1, \infty)$ is non-decreasing and lower semicontinuous such that $\phi^{-1}(\{1\}) = 1$;
- (3) $\xi(t, s) = \begin{cases} 1 & \text{if } (s, t) = (1, 1), \\ \frac{s}{2t} & \text{if } s < t, \\ \frac{s^\lambda}{t} & \text{otherwise,} \end{cases}$
 $\forall s, t \geq 1$, where $\lambda \in (0, 1)$;

- (4) $\xi_{wc}(t, s_1 s_2) = \frac{s_1 s_2}{t\psi(s_1, s_2)} \quad \forall t, s_1, s_2 \geq 1$, where $\psi : [1, \infty) \times [1, \infty) \rightarrow [1, \infty)$ is continuous such that $\psi(\mu, \nu) = 1$ if and only if $\mu = \nu = 1$.

Czerwik [6] introduced the concept of a b-metric.

A function $d : X \times X \rightarrow [0, \infty)$, where X is a non-empty set, is called *b-metric* [6] on X if and only if it satisfies the following conditions:

for all $x, y, z \in X$

- (d1) $d(x, y) = 0$ if and only if $x = y$;
- (d2) $d(x, y) = d(y, x)$;
- (d3) $d(x, y) \leq 2[d(x, z) + d(z, y)]$.

In this case, the pair (X, d) is called a b-metric space.

Also, Czerwik [7] gave a generalization of this concept by replacing constant 2 in condition (d3) with constant $s \geq 1$ as follows:

Let X be a non-empty set, and $d : X \times X \rightarrow [0, \infty)$ be a function such that for all $x, y, z \in X$

- (d1) $d(x, y) = 0$ if and only if $x = y$;
- (d2) $d(x, y) = d(y, x)$;
- (d3) $d(x, y) \leq s[d(x, z) + d(z, y)]$ where $s \geq 1$.

Then d is also called a b-metric and (X, d) is called a b-metric space.

Note that if $s=1$, then a b-metric reduce to a metric.

Let (X, d) be a b-metric space, $\{x_n\} \subset X$ be a sequence and $x \in X$. Then we say that

- (1) $\{x_n\}$ is *convergent* to x (denoted by $\lim_{n \rightarrow \infty} x_n = x$) if and only if for all $\epsilon > 0$, there exists $n_0 \in \mathbb{N}$ such that

$$\forall n \geq n_0, d(x_n, x) < \epsilon, \quad \text{i.e.} \quad \lim_{n \rightarrow \infty} d(x, x_n) = 0;$$

- (2) $\{x_n\}$ is *Cauchy* if and only if for all $\epsilon > 0$, there exists $n_0 \in \mathbb{N}$ such that

$$\forall n, m \geq n_0, d(x_n, x_m) < \epsilon, \quad \text{i.e.} \quad \lim_{m, n \rightarrow \infty} d(x_n, x_m) = 0;$$

- (3) The b-metric space (X, d) is *complete* if and only if every Cauchy sequence in X is convergent to some point in X .

Note that every convergent sequence in a b-metric space has a unique limit. In fact, if $\lim_{n \rightarrow \infty} d(x, x_n) = 0$ and $\lim_{n \rightarrow \infty} d(y, x_n) = 0$, then

$$d(x, y) \leq s[d(x, x_n) + d(x_n, y)]$$

which yields $d(x, y) = 0$, and $x = y$.

Also, note that every convergent sequence in a b-metric space is a Cauchy sequence.

Khamsi and Hussein [11] defined a topology σ_d on b-metric space (X, d) by

$$U \in \sigma_d \iff \forall x \in U, \exists \epsilon > 0 : B(x, \epsilon) = \{y : d(x, y) < \epsilon\} \subset U.$$

Let (X, d) be a b-metric space.

A map $T : X \rightarrow X$ is called *continuous* at $x \in X$ if for any $V \in \sigma_d$ containing Tx , there exists $U \in \sigma_d$ containing x such that $TU \subset V$.

We say that a map $T : X \rightarrow X$ is *continuous* whenever it is continuous at each point in X .

Proposition 1.1. *Let (X, d) be a b-metric space, and let $T : X \rightarrow X$ be a map. Then the followings are equivalent.*

- (1) T is continuous at $x \in X$;
- (2) $\forall \epsilon > 0, \exists \delta > 0$:

$$d(x, y) < \delta \implies d(Tx, Ty) < \epsilon;$$

- (3) T is sequentially continuous at x , i.e. $\lim_{n \rightarrow \infty} d(Tx_n, Tx) = 0$ for any sequence $\{x_n\} \subset X$ with $\lim_{n \rightarrow \infty} d(x_n, x) = 0$.

Remark 1.1. [9] *If d is a b-metric on X , then d is not generally continuous in each coordinates.*

Proposition 1.2. [2] *Let (X, d) be a b-metric space. If d is continuous in one variable, then d is continuous in other variable. Moreover, we have that $\forall x \in X, \forall r > 0$*

- (1) $B(x, r) \in \sigma_d$;
- (2) $X \setminus B[x, r] \in \sigma_d$.

2. FIXED POINT THEOREMS

Let $(X, \preceq)$ be a partially ordered set.

A mapping $T : X \rightarrow X$ is called *non-decreasing* if and only if for $x, y \in X$,

$$x \preceq y \text{ implies } Tx \preceq Ty.$$

Now, we prove our main result.

Theorem 2.1. *Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that for all $x, y \in X$ with $y \preceq x$*

$$(2.1) \quad d(Tx, Ty) > 0 \Rightarrow \xi(\theta(sd(Tx, Ty)), \theta(\frac{1}{1+s}[d(x, Ty) + d(y, Tx)])) \geq 1.$$

Assume that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$. If T is continuous, then T has a fixed point.

Proof. Suppose that $x_0 \preceq Tx_0$. Since T is non-decreasing,

$$x_0 \preceq Tx_0 \preceq T^2x_0.$$

Inductively, we have

$$x_0 \preceq Tx_0 \preceq T^2x_0 \preceq T^3x_0 \cdots \preceq T^nx_0 \preceq T^{n+1}x_0 \preceq \cdots.$$

Let $\{x_n\} \subset X$ be a sequence defined by

$$x_n = Tx_{n-1} = T^nx_0, \forall n = 1, 2, 3, \dots.$$

Then

$$x_n \preceq x_{n+1}, \forall n = 1, 2, 3, \dots.$$

If $x_n = x_{n+1}$ for some $n \geq 1$, then $x_n = Tx_n$ and the proof is finished. Thus assume that

$$x_n \preceq x_{n+1} \text{ and } x_n \neq x_{n+1}, \forall n = 1, 2, 3, \dots.$$

It follows from (2.1) that

$$\begin{aligned} 1 &\leq \xi(\theta(sd(Tx_{n-1}, Tx_n)), \theta(\frac{1}{1+s}[d(x_{n-1}, Tx_n) + d(x_n, Tx_{n-1})])) \\ &= \xi(\theta(sd(x_n, x_{n+1})), \theta(\frac{1}{1+s}[d(x_{n-1}, x_{n+1}) + d(x_n, x_n)])) \\ &= \xi(\theta(sd(x_n, x_{n+1})), \theta(\frac{1}{1+s}d(x_{n-1}, x_{n+1}))) \end{aligned}$$

$$< \frac{\theta(\frac{1}{1+s}d(x_{n-1}, x_{n+1}))}{\theta(sd(x_n, x_{n+1}))}$$

which implies

$$(2.2) \quad \theta(sd(x_n, x_{n+1})) < \theta(\frac{1}{1+s}d(x_{n-1}, x_{n+1}))$$

and so

$$(2.3) \quad \begin{aligned} \theta(sd(x_n, x_{n+1})) &< \theta(\frac{1}{1+s}d(x_{n-1}, x_{n+1})) \\ &\leq \theta(\frac{s}{1+s}[d(x_{n-1}, x_n) + d(x_n, x_{n+1})]). \end{aligned}$$

Since θ is non-decreasing,

$$\begin{aligned} &sd(x_n, x_{n+1}) \\ &< \frac{s}{1+s}[d(x_{n-1}, x_n) + d(x_n, x_{n+1})] \end{aligned}$$

which implies

$$\frac{s^2}{1+s}d(x_n, x_{n+1}) < \frac{s}{1+s}d(x_{n-1}, x_n).$$

Thus we have

$$\frac{s}{1+s}d(x_n, x_{n+1}) < \frac{s^2}{1+s}d(x_n, x_{n+1}) < \frac{s}{1+s}d(x_{n-1}, x_n).$$

Hence

$$d(x_n, x_{n+1}) < d(x_{n-1}, x_n), \forall n = 1, 2, 3, \dots$$

Since $\{d(x_{n-1}, x_n)\} \subset [0, \infty)$ is a decreasing sequence, there exists $r \geq 0$ such that

$$\lim_{n \rightarrow \infty} d(x_{n-1}, x_n) = r.$$

We now show that $r = 0$. Suppose that $r \neq 0$. Let $t_n = \theta(sd(x_n, x_{n+1}))$ and $s_n = \theta(\frac{1}{1+s}d(x_{n-1}, x_{n+1})) \forall n = 1, 2, 3, \dots$. Then it follows from (2.2) that

$$t_n < s_n \forall n = 1, 2, 3, \dots$$

We have

$$\lim_{n \rightarrow \infty} t_n = \theta(sr).$$

It follows from (2.3) that

$$\begin{aligned}
 & \theta(sd(x_n, x_{n+1})) \\
 & < \theta\left(\frac{1}{1+s}d(x_{n-1}, x_{n+1})\right) \\
 (2.4) \quad & < \theta\left(\frac{s}{1+s}[d(x_{n-1}, x_n) + d(x_n, x_{n+1})]\right) \\
 & < \theta\left(\frac{s}{2}[d(x_{n-1}, x_n) + d(x_n, x_{n+1})]\right).
 \end{aligned}$$

Letting $n \rightarrow \infty$ in (2.4), we have

$$\lim_{n \rightarrow \infty} s_n = \theta(sr).$$

Hence

$$1 \leq \limsup_{n \rightarrow \infty} \xi(\theta(t_n, s_n)) < 1$$

which is a contradiction. Thus we have

$$\lim_{n \rightarrow \infty} d(x_{n-1}, x_n) = 0$$

and so

$$\lim_{n \rightarrow \infty} \theta(d(x_{n-1}, x_n)) = 1.$$

We show that $\{x_n\}$ is a Cauchy sequence. On the contrary, assume that $\{x_n\}$ is not a Cauchy sequence. Then there exists an $\epsilon > 0$ for which we can find subsequences $\{x_{m(k)}\}$ and $\{x_{n(k)}\}$ of $\{x_n\}$ such that $m(k)$ is the smallest index for which $m(k) > n(k) > k \forall k = 1, 2, 3, \dots$

$$d(x_{m(k)}, x_{n(k)}) \geq \epsilon \text{ and } d(x_{m(k)-1}, x_{n(k)}) < \epsilon.$$

Since $m(k) > n(k) > k \forall k = 1, 2, 3, \dots$,

$$x_{n(k)} \preceq x_{m(k)} \forall k = 1, 2, 3, \dots$$

It follows from (2.1) that

$$\begin{aligned}
 1 & \leq \xi(\theta(sd(x_{n(k)}, x_{m(k)}))), \theta\left(\frac{1}{1+s}[d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})]\right) \\
 & < \frac{\theta\left(\frac{1}{1+s}[d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})]\right)}{\theta(sd(x_{n(k)}, x_{m(k)}))}
 \end{aligned}$$

which implies

$$\theta(sd(x_{n(k)}, x_{m(k)})) < \theta\left(\frac{1}{1+s}[d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})]\right).$$

Hence we have

$$\begin{aligned}
 & s\epsilon \\
 & \leq sd(x_{n(k)}, x_{m(k)}) \\
 (2.5) \quad & < \frac{1}{1+s} [d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})] \\
 & < \frac{1}{1+s} [\epsilon + d(x_{n(k)-1}, x_{m(k)})].
 \end{aligned}$$

We infer that

$$\begin{aligned}
 & d(x_{n(k)-1}, x_{m(k)}) \\
 (2.6) \quad & \leq sd(x_{m(k)}, x_{n(k)}) + sd(x_{n(k)}, x_{n(k)-1}) \\
 & \leq s^2 d(x_{m(k)}, x_{m(k)-1}) + s^2 d(x_{m(k)-1}, x_{n(k)}) + sd(x_{n(k)}, x_{n(k)-1}) \\
 & < s^2 d(x_{m(k)}, x_{m(k)-1}) + s^2 \epsilon + sd(x_{n(k)}, x_{n(k)-1}).
 \end{aligned}$$

Letting $n \rightarrow \infty$ in (2.6), we obtain

$$(2.7) \quad \lim_{k \rightarrow \infty} d(x_{n(k)-1}, x_{m(k)}) \leq s^2 \epsilon.$$

By taking $k \rightarrow \infty$ in (2.5) and applying (2.7), we have

$$\begin{aligned}
 & s\epsilon \\
 & \leq \lim_{k \rightarrow \infty} sd(x_{m(k)}, x_{n(k)}) \\
 & \leq \lim_{k \rightarrow \infty} \frac{1}{1+s} [d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})] \\
 & \leq \lim_{k \rightarrow \infty} \frac{1}{1+s} [d(x_{n(k)-1}, x_{m(k)}) + \epsilon] \\
 & \leq \frac{1}{1+s} [\epsilon + s^2 \epsilon] \\
 & = \frac{(1+s^2)}{1+s} \epsilon \\
 & \leq \frac{(1+s)s}{1+s} \epsilon \\
 & = s\epsilon
 \end{aligned}$$

which implies

$$\lim_{k \rightarrow \infty} sd(x_{m(k)}, x_{n(k)}) = \lim_{k \rightarrow \infty} \frac{1}{1+s} [d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})] = s\epsilon.$$

Let $t_k = \theta(sd(x_{m(k)}, x_{n(k)}))$ and $s_k = \theta(\frac{1}{1+s}[d(x_{n(k)-1}, x_{m(k)}) + d(x_{m(k)-1}, x_{n(k)})])$.
Then

$$t_k < s_k \quad \forall k = 1, 2, 3, \dots, \text{ and } \lim_{k \rightarrow \infty} t_k = \lim_{k \rightarrow \infty} s_k > 1.$$

Hence

$$1 \leq \limsup_{k \rightarrow \infty} \xi(t_k, s_k) < 1$$

which is a contradiction.

Thus $\{x_n\}$ is a Cauchy sequence, and so there exists $x_* \in X$ such that

$$\lim_{n \rightarrow \infty} d(x_*, x_n) = 0.$$

Since T is continuous,

$$\lim_{n \rightarrow \infty} d(Tx_*, x_{n+1}) = \lim_{n \rightarrow \infty} d(Tx_*, Tx_n) = 0.$$

Thus we have

$$d(x_*, Tx_*) \leq s \lim_{n \rightarrow \infty} [d(x_*, x_{n+1}) + d(x_{n+1}, Tx_*)] = 0.$$

Hence $x_* = Tx_*$. □

Theorem 2.2. Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that (2.1) holds. Assume that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$. If, for any non-decreasing sequence $\{x_n\}$ with $\lim_{n \rightarrow \infty} d(x, x_n) = 0$,

$$(2.8) \quad x_n \preceq x$$

then T has a fixed point.

Proof. Following proof of Theorem 2.1, we have a sequence $\{x_n = T^n x_0\} \subset X, x_0 \in X$ such that for all $n = 1, 2, 3, \dots$,

$$x_n \preceq x_{n+1}, \quad x_n \neq x_{n+1}, \quad \lim_{n \rightarrow \infty} d(x_*, x_n) = 0 \text{ and } \lim_{n \rightarrow \infty} d(x_{n-1}, x_n) = 0.$$

It follows from (2.1) and (2.8) that

$$\begin{aligned} 1 &\leq \xi(\theta(sd(Tx_*, Tx_n)), \theta(\frac{1}{1+s}[d(x_*, Tx_n) + d(x_n, Tx_*)])) \\ &= \xi(\theta(sd(Tx_*, Tx_n)), \theta(\frac{1}{1+s}[d(x_*, x_{n+1}) + d(x_n, Tx_*)])) \\ &< \frac{\theta(\frac{1}{1+s}[d(x_*, x_{n+1}) + d(x_n, Tx_*)])}{\theta(sd(Tx_*, Tx_n))} \end{aligned}$$

which implies

$$(2.9) \quad \theta(sd(Tx_*, Tx_n)) < \theta\left(\frac{1}{1+s}[d(x_*, x_{n+1}) + d(x_n, Tx_*)]\right).$$

Hence

$$\begin{aligned} sd(Tx_*, x_{n+1}) &< \frac{1}{1+s}[d(x_*, x_{n+1}) + d(x_n, Tx_*)] \\ &< \frac{1}{1+s}[d(x_*, x_{n+1}) + sd(x_n, x_*) + sd(x_*, Tx_*)] \\ &< \frac{1}{1+s}[d(x_*, x_{n+1}) + d(x_n, x_*) + d(x_*, Tx_*)]. \end{aligned}$$

Thus

$$\lim_{n \rightarrow \infty} sd(Tx_*, x_{n+1}) \leq d(x_*, Tx_*).$$

Hence

$$d(x_*, Tx_*) \leq \lim_{n \rightarrow \infty} [sd(x_*, x_{n+1}) + sd(x_{n+1}, Tx_*)] \leq d(x_*, Tx_*)$$

which implies

$$d(x_*, Tx_*) \leq \lim_{n \rightarrow \infty} sd(x_{n+1}, Tx_*) \leq d(x_*, Tx_*)$$

and so

$$\lim_{n \rightarrow \infty} sd(x_{n+1}, Tx_*) = d(x_*, Tx_*).$$

It follows from (2.9) that

$$sd(Tx_*, Tx_n) < \frac{1}{1+s}[d(x_*, x_{n+1}) + d(x_n, Tx_*)] < \frac{s}{1+s}[d(x_*, x_{n+1}) + d(x_n, Tx_*)].$$

By letting $n \rightarrow \infty$ in above we have

$$d(x_*, Tx_*) \leq \frac{1}{1+s}d(x_*, Tx_*)$$

which is a contradiction if $d(x_*, Tx_*) > 0$.

Hence $d(x_*, Tx_*) = 0$, and hence $x_* = Tx_*$. □

Theorem 2.3. *Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that (2.1) holds. Suppose that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, and assume that either T is continuous or (2.8) is satisfied. If for $x, y \in X$, there exists $z \in X$ such that either $z \preceq x$ or $z \preceq y$, then T has a unique fixed point.*

Proof. By Theorem 2.1 or Theorem 2.2, T has a fixed point.

We show that the fixed point of T is unique. Let $u = Tu$ and $v = Tv$. We consider the following two cases.

Case 1. Let $v \preceq u$.

Suppose that $u \neq v$. Then $d(u, v) > 0$, and from (2.1) we have

$$\begin{aligned} 1 &\leq \xi(\theta(sd(Tu, Tv)), \theta(\frac{1}{1+s}[d(u, Tv) + d(v, Tu)])) \\ &= \xi(\theta(sd(u, v)), \theta(\frac{1}{1+s}[d(u, v) + d(v, u)])) \\ &< \frac{\theta(\frac{1}{1+s}[d(u, v) + d(v, u)])}{\theta(sd(u, v))} \end{aligned}$$

which implies

$$\theta(sd(u, v)) < \theta(\frac{1}{1+s}[d(u, v) + d(v, u)]) = \theta(\frac{2}{1+s}[d(u, v)]) \leq \theta(d(u, v))$$

which is a contradiction. Thus $u = v$, and T has a unique fixed point.

Case 2. If $u \not\preceq v$, then there exists $z \in X$ such that $z \preceq u$ or $z \preceq v$.

Suppose that $z \preceq u$. Since T is non-decreasing,

$$T^{n-1}z \preceq T^{n-1}u \quad \forall n = 1, 2, 3, \dots$$

It follows from (2.1) that $\forall n = 1, 2, 3, \dots$

$$\begin{aligned} 1 &\leq \xi(\theta(sd(T^n u, T^n z)), \theta(\frac{1}{1+s}[d(u, T^n z) + d(T^{n-1}z, T^n u)])) \\ &= \xi(\theta(sd(u, T^n z)), \theta(\frac{1}{1+s}[d(u, T^n z) + d(T^{n-1}z, u)])) \\ &< \frac{\theta(\frac{1}{1+s}[d(u, T^n z) + d(T^{n-1}z, u)])}{\theta(sd(u, T^n z))} \end{aligned}$$

which implies

$$\theta(sd(u, T^n z)) < \theta(\frac{1}{1+s}[d(u, T^n z) + d(T^{n-1}z, u)])$$

and so

$$(2.10) \quad sd(u, T^n z) < \frac{1}{1+s} [d(u, T^n z) + d(T^{n-1} z, u)].$$

Hence

$$\frac{1}{1+s} d(u, T^n z) \leq (s - \frac{1}{1+s}) d(u, T^n z) < \frac{1}{1+s} d(u, T^{n-1} z)$$

and hence

$$d(u, T^n z) < d(u, T^{n-1} z) \quad \forall n = 1, 2, 3, \dots$$

Thus there exists $l \geq 0$ such that $\lim_{n \rightarrow \infty} d(u, T^{n-1} z) = l$. By letting $n \rightarrow \infty$ in (2.10), we have

$$sl \leq \frac{2}{1+s} l$$

which is a contradiction if $l \neq 0$. Hence $l = 0$ and hence $\lim_{n \rightarrow \infty} d(u, T^n z) = 0$.

Similarily, we can prove $\lim_{n \rightarrow \infty} d(v, T^n z) = 0$. Thus we have

$$d(u, v) \leq \lim_{n \rightarrow \infty} [sd(u, T^n z) + sd(T^n z, v)] = 0.$$

Hence $u = v$, and T has a unique fixed point. $\square$

By taking $\xi_c(t, q) = \frac{q^k}{t}$, $k \in (0, 1)$ in Theorem 2.3, we have the following result.

Corollary 2.1. *Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that for all $x, y \in X$ with $y \preceq x$*

$$d(Tx, Ty) > 0 \Rightarrow \theta(sd(Tx, Ty)) \leq [\theta(\frac{1}{1+s} \{d(x, Ty) + d(y, Tx)\})]^k$$

where $k \in (0, 1)$.

Suppose that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, and assume that either T is continuous or (2.8) is satisfied.

Then T has a fixed point. Further if for $x, y \in X$, there exists $z \in X$ such that $z \preceq x$ or $z \preceq y$, then T has a unique fixed point.

Corollary 2.2. *Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that for all $x, y \in X$ with $y \preceq x$*

$$sd(Tx, Ty) \leq \frac{k}{1+s} [d(x, Ty) + d(y, Tx)]$$

where $k \in (0, 1)$.

Suppose that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, and assume that either T is continuous or (2.8) is satisfied.

Then T has a fixed point. Further if for $x, y \in X$, there exists $z \in X$ such that $z \preceq x$ or $z \preceq y$, then T has a unique fixed point.

By taking ξ_{wc} in Theorem 2.3, we have the following result.

Corollary 2.3. *Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that for all $x, y \in X$ with $y \preceq x$*

$$d(Tx, Ty) > 0 \Rightarrow \theta(sd(Tx, Ty)) \leq \frac{\theta(\frac{1}{1+s}[d(x, Ty) + d(y, Tx)])}{\psi(\theta(\frac{1}{1+s}d(x, Ty)), \theta(\frac{1}{1+s}d(y, Tx)))}$$

where $\theta \in \Theta$ with $\theta(p_1 + p_2) = \theta(p_1)\theta(p_2)$.

Suppose that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, and assume that either T is continuous or (2.8) is satisfied.

Then T has a fixed point. Further if for $x, y \in X$, there exists $z \in X$ such that $z \preceq x$ or $z \preceq y$, then T has a unique fixed point.

Corollary 2.4. *Let $(X, \preceq)$ be a partially ordered set. Suppose that there exists a b -metric d on X such that (X, d) is complete. Let $T : X \rightarrow X$ be a non-decreasing mapping such that for all $x, y \in X$ with $y \preceq x$*

$$(2.11) \quad sd(Tx, Ty) \leq \frac{1}{1+s} [d(x, Ty) + d(y, Tx)] - \varphi(d(x, Ty), d(y, Tx))$$

where $\varphi : [0, \infty) \times [0, \infty) \rightarrow [0, \infty)$ is continuous and $\varphi(u, v) = 0$ if and only if $u = v = 0$.

Suppose that there exists $x_0 \in X$ such that $x_0 \preceq Tx_0$, and assume that either T is continuous or (2.8) is satisfied.

Then T has a fixed point. Further if for $x, y \in X$, there exists $z \in X$ such that $z \preceq x$ or $z \preceq y$, then T has a unique fixed point.

Proof. Let $\theta(t) = e^t, \forall t > 0$, and let $\varphi(u, v) = \ln(\psi(\theta(\frac{1}{1+s}u), \theta(\frac{1}{1+s}v)))$, $\forall u, v > 0$ such that $\psi : [1, \infty) \times [1, \infty) \rightarrow [1, \infty)$ is continuous and $\psi(\mu, \nu) = 1$ if and only if $\mu = \nu = 1$.

Then we have

$$\begin{aligned}\varphi(u, v) &= 0 \\ \Leftrightarrow \ln(\psi(\theta(\frac{1}{1+s}u), \theta(\frac{1}{1+s}v))) &= 0 \\ \Leftrightarrow \psi(\theta(\frac{1}{1+s}u), \theta(\frac{1}{1+s}v)) &= 1 \\ \Leftrightarrow \theta(\frac{1}{1+s}u) = \theta(\frac{1}{1+s}v) &= 1 \\ \Leftrightarrow u = v = 0.\end{aligned}$$

It follows from (2.11) that for all $x, y \in X$ with $y \preceq x$ and $d(Tx, Ty) > 0$

$$\begin{aligned}\theta(sd(Tx, Ty)) &= e^{sd(Tx, Ty)} \\ &\leq e^{\frac{1}{1+s}[d(x, Ty) + d(y, Tx)] - \varphi(d(x, Ty), d(y, Tx))} \\ &= \frac{e^{\frac{1}{1+s}[d(x, Ty) + d(y, Tx)]}}{e^{\varphi(d(x, Ty), d(y, Tx))}} \\ &= \frac{\theta(\frac{1}{1+s}[d(x, Ty) + d(y, Tx)])}{\psi(\theta(\frac{1}{1+s}d(x, Ty)), \theta(\frac{1}{1+s}d(y, Tx)))}.\end{aligned}$$

By Corollary 2.3, T has a unique fixed point. □

Remark 2.1. Corollary 2.4 reduces to Theorem 3.2 of [8] by taking $s = 1$. Also, by taking $s = 1$ in Corollary 2.2, we have an extension of Theorem 1.1 to partially ordered sets with metric spaces.

We give an example to illustrate Theorem 2.1.

Example 2. Let $X = \{\frac{1}{n} : n = 1, 2, 3, \dots\} \cup \{0\}$ and $\rho(x, y) = |x - y|$ and $d(x, y) = |x - y|^2$.

Define

$$y \preceq x \Leftrightarrow x \leq y.$$

Then $(X, \preceq)$ is partially ordered set, and (X, ρ) is a complete metric space and (X, d) is a complete b -metric space with $s = 2$.

Obviously, we have that for any non-decreasing sequence $\{x_n\} \subset X$ with $\lim_{n \rightarrow \infty} x_n = x \in X$,

$$x_n \preceq x, \forall n = 1, 2, 3, \dots.$$

Thus condition (2.8) holds.

Define a map $T : X \rightarrow X$ by

$$Tx = \begin{cases} \frac{1}{n+1} & (x = \frac{1}{n}, n = 1, 2, 3, \dots), \\ 0 & (x = 0). \end{cases}$$

and a function $\theta : (0, \infty) \rightarrow (1, \infty)$ by

$$\theta(t) = e^t.$$

For $x_0 = 1$, $Tx_0 = T1 = \frac{1}{2}$, and so $Tx_0 \leq x_0$, which yields

$$x_0 \preceq Tx_0.$$

Let $\psi(u, v) = \frac{u}{v^6}$, $\forall u, v \geq 1$. We now show that (2.1) hold with respect to ξ_{wc} . Consider the following two case.

Case 1. Let $x = 0, y = \frac{1}{n}$. Then

$$\begin{aligned} & \xi(\theta(\frac{1}{3}d(0, T\frac{1}{n})), \theta(\frac{1}{3}[d(0, T\frac{1}{n}) + d(\frac{1}{n}, T0)])) \\ &= \frac{\theta(\frac{1}{3}[d(0, T\frac{1}{n}) + d(\frac{1}{n}, T0)])}{\theta(2d(T0, T\frac{1}{n}))\psi(\theta(\frac{1}{3}d(0, T\frac{1}{n})), \theta(\frac{1}{3}d(\frac{1}{n}, T0)))} \\ &= \frac{\theta(\frac{1}{3}[\frac{1}{(n+1)^2} + \frac{1}{n^2}])}{\theta(\frac{2}{n^2})\psi(\theta(\frac{1}{3}\frac{1}{(n+1)^2}), \theta(\frac{1}{3}\frac{1}{n^2}))} \\ &= \frac{e^{\frac{1}{3}[\frac{1}{(n+1)^2} + \frac{1}{n^2}]}}{e^{\frac{2}{n^2}}e^{\frac{1}{3}\frac{1}{(n+1)^2}}e^{\frac{-2}{n^2}}} \\ &= e^{\frac{1}{3n^2}} \geq 1 \quad \forall n = 1, 2, 3, \dots. \end{aligned}$$

Thus we have

$$\frac{\theta(\frac{1}{3}[d(0, T\frac{1}{n}) + d(\frac{1}{n}, T0)])}{\psi(\theta(\frac{1}{3}d(0, T\frac{1}{n})), \theta(\frac{1}{3}d(\frac{1}{n}, T0)))} \geq \theta(2d(T0, T\frac{1}{n})) \quad \forall n = 1, 2, 3, \dots.$$

Case 2. Let $x = \frac{1}{n}$ and $y = \frac{1}{m}$ ($m > n$). Then

$$\begin{aligned} & \xi(\theta(\frac{1}{3}d(T\frac{1}{n}, T\frac{1}{m})), \theta(\frac{1}{3}[d(\frac{1}{n}, T\frac{1}{m}) + d(\frac{1}{m}, T\frac{1}{n})])) \\ &= \frac{\theta(\frac{1}{3}[d(\frac{1}{n}, T\frac{1}{m}) + d(\frac{1}{m}, T\frac{1}{n})])}{\theta(2d(T\frac{1}{n}, T\frac{1}{m}))\psi(\theta(\frac{1}{3}d(\frac{1}{n}, T\frac{1}{m})), \theta(\frac{1}{3}d(\frac{1}{m}, T\frac{1}{n})))} \\ &= \frac{\theta(\frac{1}{3}[\frac{1}{n} - \frac{1}{(m+1)}]^2 + [\frac{1}{m} - \frac{1}{(n+1)}]^2])}{\theta(2[\frac{1}{n+1} - \frac{1}{m+1}]^2)\psi(\theta(\frac{1}{3}[\frac{1}{n} - \frac{1}{(m+1)}]^2), \theta(\frac{1}{3}[\frac{1}{m} - \frac{1}{(n+1)}]^2))} \\ &= \frac{e^{\frac{1}{3}[\frac{1}{n} - \frac{1}{(m+1)}]^2 + [\frac{1}{m} - \frac{1}{(n+1)}]^2])}{e^{2[\frac{1}{n+1} - \frac{1}{m+1}]^2} e^{\frac{1}{3}[\frac{1}{n} - \frac{1}{(m+1)}]^2} e^{-2[\frac{1}{m} - \frac{1}{(n+1)}]^2}} \\ &= e^{\frac{1}{3}[\frac{1}{m} - \frac{1}{(n+1)}]^2} \geq 1 \quad \forall m > n = 1, 2, 3, \dots \end{aligned}$$

Hence all condition of Theorem 2.2 is satisfied, T has a fixed point.

Note that Corollary 2.2 is not applicable here. In fact, if $x = 0$ and $y = \frac{1}{n}$, then

$$sd(T0, T\frac{1}{n}) \leq \frac{k}{1+s}[d(0, T\frac{1}{n}) + d(\frac{1}{n}, T0)]$$

which implies

$$\frac{2}{(n+1)^2} \leq \frac{k}{3}[\frac{1}{n^2} + \frac{1}{(n+1)^2}].$$

Hence

$$\frac{k}{3} \geq \frac{\frac{2}{(n+1)^2}}{\frac{1}{n^2} + \frac{1}{(n+1)^2}} = \frac{2n^4 + 4n^3 + 2n^2}{2n^4 + 6n^3 + 7n^2 + 4n + 1} \quad \forall n = 1, 2, 3, \dots$$

Thus $k \geq 3$, which is a contradiction. Hence Corollary 2.2 is not satisfied.

Also, Corollary 2.1 does not hold. In fact, let $x = 0, y = \frac{1}{n}$ and $\theta(t) = e^t, \forall t > 0$, then

$$\theta(sd(T0, Tx)) \leq \theta(\frac{k}{1+s}[d(x, T\frac{1}{n}) + d(\frac{1}{n}, T0)]).$$

Thus

$$e^{\frac{2}{(n+1)^2}} \leq e^{\frac{k}{3}[\frac{1}{n^2} + \frac{1}{(n+1)^2}]}$$

and so

$$e^{\frac{k}{3}} \geq e^{\frac{2}{(n+1)^2} \frac{n^2(n+1)^2}{2n^2+2n+1}} = e^{\frac{2n^2}{2n^2+2n+1}} \quad \forall n = 1, 2, 3, \dots$$

Hence

$$e^{\frac{k}{3}} \geq e^1, \text{ and hence } k \geq 3$$

which is a contradiction. Thus Corollary 2.1 is not applicable here.

3. APPLICATION TO DIFFERENTIAL EQUATIONS

Let $\mathbb{I} = [0, T] \subset \mathbb{R}$ be a closed interval, where $T > 0$, and let $C(\mathbb{I}, \mathbb{R})$ be the class of all continuous function from $\mathbb{I}$ into $\mathbb{R}$.

Let $\rho(x, y) = \sup_{s \in \mathbb{I}} |x(s) - y(s)| \quad \forall x, y \in C(\mathbb{I}, \mathbb{R})$, and $d(x, y) = [\rho(x, y)]^2 \quad \forall x, y \in C(\mathbb{I}, \mathbb{R})$.

Then $(C(\mathbb{I}, \mathbb{R}), d)$ is a complete b-metric space with $s = 2$, and $(C(\mathbb{I}, \mathbb{R}), \preceq)$ is a partially ordered set with the partial order given by

$$\forall x, y \in C(\mathbb{I}, \mathbb{R}), \quad x \preceq y \iff x(s) \leq y(s) \quad \forall s \in \mathbb{I}.$$

Consider the following ordinary differential equation:

$$(3.1) \quad u'(s) = f(s, u(s)), \quad \forall s \in \mathbb{I}, \quad u(0) = u(T)$$

where $f : \mathbb{I} \times \mathbb{R} \rightarrow \mathbb{R}$ is a continuous function.

A function $a \in C^1(\mathbb{I}, \mathbb{R})$ is a lower solution for the ordinary differential equation (3.1) if and only if

$$a'(s) \leq f(s, a(s)) \quad \forall s \in \mathbb{I}, \quad a(0) \leq a(T).$$

Note that if, for some $\lambda > 0$

$$G(t, s) = \begin{cases} \frac{e^{\lambda(T+s-t)}}{e^{\lambda T} - 1} & (0 \leq s < t \leq T), \\ \frac{e^{\lambda(s-t)}}{e^{\lambda T} - 1} & (0 \leq t < s \leq T) \end{cases}$$

then

$$\sup_{t \in \mathbb{I}} \int_0^T G(t, s) ds = \frac{1}{\lambda}.$$

In fact,

$$\begin{aligned} \sup_{t \in \mathbb{I}} \int_0^T G(t, s) ds &= \sup_{t \in \mathbb{I}} \int_0^t \frac{e^{\lambda(T+s-t)}}{e^{\lambda T} - 1} ds + \int_t^T \frac{e^{\lambda(s-t)}}{e^{\lambda T} - 1} ds \\ &= \sup_{t \in \mathbb{I}} \frac{1}{e^{\lambda T} - 1} \left[\left(\frac{1}{\lambda} e^{\lambda(T+s-t)} \right) \Big|_0^t + \left[\frac{1}{\lambda} e^{\lambda(s-t)} \right]_t^T \right] \\ &= \frac{1}{\lambda(e^{\lambda T} - 1)} (e^{\lambda T} - 1) \\ &= \frac{1}{\lambda}. \end{aligned}$$

Lemma 3.1. [12] If $a \in C^1(\mathbb{I}, \mathbb{R})$ is a lower solution for the ordinary differential equation (3.1), then $a \preceq Fa$ where $F : C(\mathbb{I}, \mathbb{R}) \rightarrow C(\mathbb{I}, \mathbb{R})$ is a map defined by

$$(3.2) \quad (Fu)(t) = \int_0^T G(t, s)[f(s, u(s)) + \lambda u(s)]ds.$$

Theorem 3.1. Suppose that there exists $\lambda > 0$ such that for $x, y \in \mathbb{R}$ with $x \leq y$

$$(3.3) \quad \begin{aligned} & \theta(2[f(s, y) + \lambda y - (f(s, x) + \lambda x)]) \\ & \leq [\theta(\frac{1}{3}[(f(s, x) + \lambda x) - \lambda y + (f(s, y) + \lambda y) - \lambda x])]^k \end{aligned}$$

where $k \in (0, 1)$ and $\theta \in \Theta_{124}$.

Then the differential equation (3.1) has a unique solution, whenever it has a lower solution.

Proof. Let $F : C(\mathbb{I}, \mathbb{R}) \rightarrow C(\mathbb{I}, \mathbb{R})$ be a map defined by (3.2). Let $u, v \in C(\mathbb{I}, \mathbb{R})$ with $v \preceq u$. Then from (3.3)

$$\theta(f(s, u(s)) + \lambda u(s) - [f(s, v(s)) + \lambda v(s)]) > 1.$$

Hence

$$f(s, u(s)) + \lambda u(s) - [f(s, v(s)) + \lambda v(s)] > 0$$

and hence

$$f(s, u(s)) + \lambda u(s) > f(s, v(s)) + \lambda v(s).$$

Thus we have that for each $t \in \mathbb{I}$

$$\begin{aligned} & (Fv)(t) \\ &= \int_0^T G(t, s)[f(s, v(s)) + \lambda v(s)]ds \\ &< \int_0^T G(t, s)[f(s, u(s)) + \lambda u(s)]ds \\ &= (Fu)(t) \end{aligned}$$

which implies

$$Fv \prec Fu.$$

Thus F is non-decreasing and $0 \prec d(Fu, Fv)$.

Let $a(t) \in C'(\mathbb{I}, \mathbb{R})$ be a lower solution for (3.1). By Lemma 3.1, $a \preceq Fa$.

Let $v \preceq u$. Then we have that

$$\begin{aligned}
 & 1 < \theta(2d(Fu, Fv)) \\
 & = \theta(2 \sup_{t \in \mathbb{I}} |(Fu)(t) - (Fv)(t)|^2) \\
 & = \theta(2 \sup_{t \in \mathbb{I}} [\int_0^T G(t, s)[f(s, u(s)) + \lambda u(s) - f(s, v(s)) - \lambda v(s)]ds]^2) \\
 & \leq [\theta(\frac{1}{3} \sup_{t \in \mathbb{I}} [\int_0^T G(t, s)[f(s, u(s)) + \lambda u(s)]ds - \lambda v(t)]^2 \\
 & \quad + \frac{1}{3} \sup_{t \in \mathbb{I}} [\int_0^T G(t, s)[f(s, v(s)) + \lambda v(s)]ds - \lambda u(t)]^2]^k \\
 & \leq [\theta(\frac{1}{3} [\sup_{t \in \mathbb{I}} ((Fu)(t) - \lambda v(t) \int_0^T G(t, s)ds)^2 \\
 & \quad + ((Fv)(t) - \lambda u(t) \int_0^T G(t, s)ds)^2])]^k \\
 & = [\theta(\sup_{t \in \mathbb{I}} \frac{1}{3} [((Fu)(t) - v(t))^2 + ((Fv)(t) - u(t))^2])]^k \\
 & \leq [\theta(\frac{1}{3} [d(Fu, v) + d(Fv, u)])]^k
 \end{aligned}$$

which implies

$$\begin{aligned}
 1 & \leq \frac{[\theta(\frac{1}{3} [d(Fu, v) + d(Fv, u)])]^k}{\theta(2d(Fu, Fv))} \\
 & = \xi_b(\theta(2d(Fu, Fv)), \theta(\frac{1}{3} [d(Fu, v) + d(Fv, u)])) \\
 & = \xi_b(\theta(sd(Fu, Fv)), \theta(\frac{1}{1+s} [d(Fu, v) + d(Fv, u)])),
 \end{aligned}$$

$\forall u, v \in C(\mathbb{I}, \mathbb{R})$ with $v \preceq u$. Hence (2.1) holds.

We show that (2.11) holds.

Let $\{x_n\} \subset C(\mathbb{I}, \mathbb{R})$ be a non-decreasing sequence such that

$$(3.4) \quad \lim_{n \rightarrow \infty} d(x, x_n) = 0$$

where $x \in C(\mathbb{I}, \mathbb{R})$. Then we have that for all $t \in \mathbb{I}$

$$(3.5) \quad x_1(t) \leq x_2(t) \leq \cdots \leq x_n(t) \leq \cdots$$

It follows from (3.4) and (3.5) that

$$x_n(t) \leq x(t) \quad \forall t \in \mathbb{I}, n = 1, 2, 3, \dots$$

Thus

$$x_n \preceq x \quad \forall n = 1, 2, 3, \dots$$

Let $u, v \in C(\mathbb{I}, \mathbb{R})$. Then $u(t), v(t) \in \mathbb{R} \quad \forall t \in \mathbb{I}$, and so there exists $z \in C(\mathbb{I}, \mathbb{R})$ such that

$$\forall t \in \mathbb{I}, \quad \text{either } z(t) \leq u(t) \text{ or } z(t) \leq v(t)$$

which yields

$$\text{either } z \preceq u \text{ or } z \preceq v.$$

All conditions of Theorem 2.3 are satisfied with condition (2.8). By Theorem 2.3, F has a unique fixed point, say $u_* \in C(\mathbb{I}, \mathbb{R})$. Hence $u_* \in C^1(\mathbb{I}, \mathbb{R})$ is a unique solution of differential equation (3.1). $\square$

ACKNOWLEDGEMENTS

The author express his gratitude to the referees for careful reading and giving variable comments.

REFERENCES

- [1] J. AHMAD, A.E. AL-MAZROOEI, Y.J. CHO, Y.O. YANG: *Fixed point results for generalized θ -contractions*, Journal of Nonlinear Sciences and Applications, **10** (2017), 2350–2358.
- [2] T.V. AN, L.Q. TUYEN, N.V. DUNG: *Stone-type theorem on b -metric spaces and applications*, Topology and its Applications, **185-186** (2015), 50–64.
- [3] S.K. CHATTERJEA: *Fixed point theorems*, C.R.Acad. Bulgaria Sci., **25** (1972), 727–730.
- [4] S.H. CHO: *Fixed Point Theorems for L -Contractions in Generalized Metric Spaces*, Abstract and Applied Analysis, **2018**, Article ID 1327691, 6pages.
- [5] B.S. CHOUDHURY: *Unique fixed point theorem for weak C -contractive mappings*, Kathmandu University Journal of Science, Engineering and Technology, **5**(10) (2009), 6–13.
- [6] S. CZERWIK: *Contraction mappings in b -metric spaces*, Acta, Math. Univ. Ostrav., **1**(1) (1993), 5–11.
- [7] S. CZERWIK: *Nonlinear set-valued contraction mappings in b -metric spaces*, Atti Semin. Mat. Fis. Univ. Modena **46** (1998), 263–276.

- [8] J. HARJANI, B. LOPEZ, K.SADARANGANI: *Fixed point theorems for weakly C-contractive mappings in ordered metric spaces*, Computers and Mathematics with Applications **61** (2011), 790–796.
- [9] N. HUSSAIN, D. DORIC, Z. KADELBURG, S. RADENOVIC: *Suzuki-type fixed point results in metric type space*, Fixed Point Theory and Applications 2012, **2012**:126.
- [10] M. JLELI, B. SAMET: *A new generalization of the Banach contraction principle*, Journal of Inequalities and Applications 2014, **2014**:38.
- [11] M.A. KHAMSI, N. HUSSAIN: *KKM mappings in metric type spaces*, Nonlinear Analysis **7**(9) (2010), 3123–3139.
- [12] J.J. NIETO, R. RODRÍGUEZ-LÓPEZ: *Contractive mapping theorems in partially ordered sets and application to ordinary differential equations*, Order **22** (2005), 223–239.

DEPARTMENT OF MATHEMATICS

HANSEO UNIVERSITY

ADDRESS:46, HANSEO 1-RO, HAEMI-MYEON,

SEOSAN-SI, CHUNGCHEONGNAM-DO, 31962, REPUBLIC OF KOREA

Email address: shcho@hanseo.ac.kr